A practice question for your exam on Wednesday.

Retail demand for Whizbangs is given by

    P  10  9  8  7  6  5  4

    Q   1  2  4  6  8  9  10

There is a zero marginal cost of retailing and of producing whizbangs.  You have a monopoly in production; Joe is the only retailer.

    a.  Your profit maximizing price is ______________.

    b.  Your profit maximizing quantity is ____________.

    c.  If you can set a maximum retail price for Joe to charge 

    it would be ___________.

Imitation Whizbangs now appear on the market.  They sell at wholesale for 2.  They fall apart as soon as they get home and the disgruntled consumers buying the fake Whizbangs will never buy Whizbangs again.  Satisfied purchasers will however continue to buy each period per the demand schedule.  The per period interest rate is 50%. 

    d. If you cannot control the retailer, what price should you set for whizbangs?

    e.  If you could impose resale price control, you would have an incentive to

    set a maximum resale price?  A minimum resale price?

    h.  If you could set a minimum retail price, that price would be ___________.

    i.  Your wholesale price would then be ____________.

